ARITMETICA

Espressioni

L 17413+ (2 + 8) + (21 - 9)] [52]
2 (10-2) - [(15+ 12 - 17) - (26 + 10 + 5 - 33)] (6]
> 35-10+5-[35-(5+10-5)]- 1= [4]
Y 6:2+8-4-(3+2+1)-5= (5]
> (10+1+5):8+ (80 +40): 60 = 4]
®  (34:2+3.-3-5.2-2):6-1 = [0]
T (7+443)-(8+2)+(11+6):17 = (5]
&  18.6+27-[26-(81+9-2-3+3-6)] = 2]
>  [12+3-11-3+(18+7-5+3-9):7]+10-2-8 = 3]
0 51 .{12+3-[2-18-9-(24:6-2)-6]-60} +7 = (8]
U 2,5.08+(2,3+27)-(25-2)]-2-(1,8-10)-(7,5-0,4) = [0]
12 [6-(1,5+3,5)- 0 + (1,5-2) - (0,9+2,1) - 0,2:0,2] - 2 - 6:0,5 = [16]
B 3452424 22.20:2-5%= [10]
W 33.942%:4-3.15= [4]
15. 05:9+42+33-52.22.9 = [10]
16 28241 28) 122+ 13 : 210 = 1]
Vo (222 4+ (22-5-4)2+92-42.5= [69]
18 [(3%)3:31075; 394(5%)3:510-22.71 = [0]

UbiMathi # per la classe prima media



